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Quiz	
  1	
  SOLUTIONS	
  
Name:	
  
	
  
1.	
  A	
  table	
  has	
  an	
  area	
  of	
  3	
  m2.	
  What	
  is	
  its	
  area	
  in	
  CGS	
  units?	
  
a)	
  3x102	
  cm2	
  	
   	
   b)	
  3x106	
  mm2	
  	
   	
  
c)	
  3x10-­‐3	
  km2	
  	
   d)	
  3x104	
  cm2	
  

	
  
2.	
  Is	
  the	
  dot	
  product	
  of	
  A	
  and	
  B:	
  
a)	
  <	
  0	
  
b)	
  =	
  0	
  
c)	
  >	
  0	
  
	
  
	
  
	
  
Question	
  1:	
  
CGS	
  units	
  expresses	
  length	
  in	
  centimeters,	
  otherwise	
  b	
  is	
  a	
  correct	
  answer	
  

3  𝑚!× !""  !"
!  !

!
= 3×100×100  𝑐𝑚 = 3×10!cm	
  

so	
  the	
  correct	
  answer	
  is	
  d	
  
	
  
Question	
  2:	
  
Recall	
  A�B	
  =	
  |A||B|cos	
  θ	
  	
  
The	
  dot	
  product	
  of	
  the	
  two	
  vectors	
  is	
  a,	
  less	
  than	
  zero,	
  because	
  the	
  angle	
  θ	
  between	
  
the	
  vectors	
  is	
  between	
  90	
  and	
  180	
  degrees,	
  so	
  cos	
  θ	
  is	
  negative.	
  
	
  


